[bookmark: _GoBack]“Thirteen wasted years”
To what extent is this accurate assessment of the Conservative government 1951 – 1964?
	YES, it was thirteen wasted years
	No, it wasn’t thirteen wasted years 
	Historical opinions 

	Economic – economic growth was slow in the 1950s and 1960s compared to that of other European nations inside the European Economic Community. 
The stop-go economics presented the failure of the Conservative party to effectively plan the economic  situation resulting in slow growth 
	The economy was attempting to revitalise itself after the Second World War – the economic growth was part of the post-war recovery. NHS. 
Greater sale of consumer goods, particularly white goods that were commonly known as modern conveniences. This marked the end of austerity and the progression following the war. Inevitably, the economy wouldn’t be flourishing at the start, coming out of the post-war era. The continuation of the Conservative government allowed the enhancing of the economy. Technological advance, a stable international trade environment, the success of Keynesian economics created a situation which did approach full employment 

	Hobsbawm comments that the era was a Golden Age of economic growth

Barnett argues that 13 years were wasted in attempt to ‘modernise’ the economy

	Social – Housing was poor, poverty hadn’t ended. The majority of women remained in the category of economically inactive. 
	Living standards increased for the majority of the population, as 354000 new houses and various towns including Harlow and Essex were created by the mid 1950s. 
Greater provisions were made to enhance both the education and welfare provisions, through the creation of the tripartite education system, and thus eliminating social mobility. Welfare provisions were created to enhance the NHS, through including prescription charges 
	‘never had it so good’ – Macmillan, on the improvement of lifestyle and social provisions

Peter Hennessy argues that it was the age of affluence 

	Political – lack of political direction by the Prime Minister, allowing other members of the Conservative cabinet the day to day tasks. 
In terms of the political arithmetic in Parliament, the Conservatives didn’t have a great enough majority in Parliament to make a significant difference and successfully dismantle the Atlee legacy. Tensions within the Conservative party also account for the reputation of the 13 years in power to be illustrated as a complete debacle. Butler and Macmillan didn’t get on very well. Eden was frequently impatient, a trait that was presented by the Suez Crisis, blowing away the high expectations the public had of him as a key political figure 
	The Conservatives won three successive elections in the 1950s suggesting there was broad satisfaction with the Conservative policies. The Conservative stance on the management of the economy to led to the delivery of generally improved living standards. 

Unquestionably, there were divisions in the Labour Party, which meant that the Conservative Party would indeed flourish. The internal party divisions of the Gaitskellites and the Bevanites produced a disillusioned Labour Party both in ideology and in personality. 
	Bullock commented on the night of the 1959 election defeat, that Labour losing was a step going backwards

	Foreign  - Britain lost control of the imperial territories, notably in the Suez Crisis of 1956 and across the whole of Africa through the Wind of Change speech. Britain “missed the bus” on two separate occasions at Schuman and again at Messina. Failure to join the European Economic Community was illustrated as a missed opportunity to improve Britain’s international status. 
	Britain was allowed to maintain the commercial links and global influence over other nations through its imperial links. Staying clear from the European Economic Community therefore allowed Britain to maintain its powerful independence and influence on the world stage, whilst enhancing the Commonwealth and the Empire. 
	Historians including Andrew Marr argue that Britain was in terminal decline on the international scene as a result of the debacle at Suez. 
Young argues that the British government fully understood the dangers of exclusion from the Union.

	
	
	



AN AGE OF AFFLUENCE. How accurate is this view of Britain in 1951 – 1964?
Hennessy; an era of prosperity and abolishment of austerity 	
	Yes, both domestically and internationally. Britain had the best coal and steel supplies in the world. Arguably, Britain had experienced this era of affluence having headed up and created two economic communities; The Economic Coal and Steel Community was created, supplying the world with staple resources. EFTA was formed; linking Britain, Denmark, Switzerland, Netherlands, Austria and Portugal – creating an economically active trading bloc
	No, because they failed to integrate in Britain; missed the bus for increased affluence, not once but twice. Britain lagged behind with her sluggish economic growth compared to her European counterparts. Difficult to evaluate British growth compared to that of Germany who experienced a complete restructuring of their economy and Britain still had to contribute 7% of their GDP to defence spending; so comparing is an ineffective means of evaluation

	The golden age suggests the surge in consumption with mod cons. The steadily growing number of white goods that were purchased during the period proves the technological advancement experienced during the period inextricably linked with the rise of greater liberalisation; car ownership and home ownership hit its peak by 1960, as well as the sales in home furnishings and furniture. To a great degree, Britain did experience such a revolution.  
	Corelli Barnett would argue that the increased consumerism and overheating of the economy illustrates that growth was limited. Thorneycroft’s idea of monetarism (cutting the money supply and limiting wage increases) proved necessary due to the increased consumer spending nature. Thorneycroft’s proposals were rejected and Macmillan shared a precautionary view, saying that people have never had it so good…be careful, it wont last forever. The double edged meaning of this speech warned citizens of the perils of inflation and the consequences of the era of affluence. For that reason, it could be argued that the second half of the thirteen years of Tory rule didn’t benefit as much as the first half. 

	The end of rationing hailed the emergence of the age of affluence. The commencement of a New Jerusalem meant that people were free to spend. The Atlee legacy provided greater provisions for healthcare as well as education. The 1944 Education Act produced a tripartite system which benefitted British children. 
	The welfare system didn’t illustrate an age of affluence; prescription charges diminished what was perceived to be a free healthcare system. The tripartite system was seen as incredibly elitist and a psychological strain on children. The era of affluence benefitted some people more than others. 

	Politically, the age of affluence was an accurate account of Britain which the Conservative Party adequately exploited in regards to political campaign. The age of affluence permitted them to remain in government for 13 years without disruption; the age of affluence maintained the economy
	The Conservatives were arguably the natural party of government who were trusted with the economy; the people were scared of change  



Britain was in decline as a world power throughout the years 1955 – 1974. Assess the validity of this view. (42/45) 
British influence on the world stage changed after the Second World War. At times, British influence on the world stage ceased to be of incredibly influence and at times resulted in great humiliation. Overall however, despite the debacle of Suez, the numerous attempts at European integration and the fervent issue of decolonisation, Britain remained a player on the world stage and continued to dine at the top table. 
	Debatably, many historians look to the Suez Crisis of 1957 to quickly establish a view that British involvement in the period was a complete debacle. Arguably the failure of the British to cooperate with the French and go ahead with the planned intervention (agreed at Sevres) to “bring peace” upon Israel invading Egypt demonstrated Britain in harsh decline as a world power. Suez was fundamental in the world and contributed to British decline because it carried 80% of the oil and was the artery of the world trade. Colonel Nasser’s nationalisation of the Suez Canal Company illustrated hum as a parody of Hitler, the press dubbing him the Hitler of the Nile. Eden, a supposed foreign policy expert demonstrated Britain’s terminal decline in foreign policy and as a world power, compared to that of Nasser.
	Contrastingly, it could be argued that Britain ceased to suffer from decline as a world power as Conservative leadership was so strong and the Suez Crisis ceased to affect the 1959 election, returning Harold Macmillan as Prime Minister.
	This suggests Suez remained a blip in modern foreign policy history and left Britain untainted as a world power. 


	Arguably, the Suez Crisis led to some of Britain’s reputation diminishing, however. Britain arguably missed the bus for European integration – the second time at Messina, Sicily, where the Treaty of Rome was to be signed by the world powers.
	Having said that Britain had its own economic communities which would suggest Britain was not in decline on the world stage at all. The British establishment of EFTA (Economic Free Trade Association) linked Britain, Denmark, Switzerland, Netherlands, Austria and Portugal proved to suffice compared to the creation of the EEC and the Common Agricultural Policy that came with it. Furthermore, Britain possessed the best coal in the world, demonstrating Britain as a powerful nation with core staple industry. The prominence of coal led to Britain establishing a further community – the Economic Coal and Steel Community.
	The creation of both EFTA and the ECSC demonstrated the role Britain played in retaining its economic sovereignty rather than being in decline on the world stage.


	Contrastingly, it could be argued that despite the establishment of EFTA and the ECSC, both these organisations failed to satiate Britain’s thirst for greater economic power. By 1960, Britain realised the increased trade to the Common Market rose by 29% whilst trade to the Sterling Area remained at a mere 1%. Britain therefore ceased to decline as a world power but rather recognised where economic strength resided – and this was in Europe. Britain successfully entered the EEC in 1973 under Edward Heath’s Conservative government. A referendum in 1975 confirmed the EEC integration by a 2:1 majority. 
	Having said that, Britain could be viewed as a being in decline as a world power to the two failed attempts at integration in 1963 and subsequently, 1967; where de Gaulle feared an intrusion by les Anglo-Saxons and vetoed both applications. Historians also point to the referendum as evidence of Britain’s decline as a world power; the need to hold a referendum demonstrates the British lack of commitment to European integration
	Britain eventually entered the EEC however, suggesting Britain pilled through and sustained her seat at the international top table.

	Harold Macmillan’s infamous Wind of Change speech instigated the decolonisation process leading to Britain releasing her imperial colonies. Decolonisation proves an interesting debate as historians would argue Britain releasing colonies and adhering under a supranational community (the EEC) proves their decline as a world power. Certainly, the case of Rhodesia would support this view as decolonisation led to Ian Smith announcing a UDI (Unilateral Declaration of Independence) on Rhodesia, suggesting “there will not be black majority rule in Rhodesia for a thousand years”.
	Contrastingly, decolonisation freed countries such as the Gold Coast and led to a wind rush; Britain had established her place in the world and earned respect from her former colonies.
	Britain ceased to be in decline as many of the new Commonwealth citizens eventually came to live in Britain. Inward migration totalled at 1.25 million at the end of the 1960s. 


	In conclusion, Britain ceased to suffer from decline as a world power but rather the opposite. Britain remained a permanent member of the United Nations Security Council as well as being a crucial member of NATO (North Atlantic Treaty Organisation). On the European front, Britain eventually entered the EEC and the process of decolonisation permitted Britain to retain her dignity with former colonies and helped to assist in the transition into the Commonwealth. Moreover, Britain ceased to be simply the sickman of Europe and the world, but rather one of the most competitive players. 





The efforts of British governments to join the EEC in the years 1961 – 1973 were mainly a result of the British decline as a world power. Assess the validity of this view. 
	Due to Britain’s decline as a world power
	Other motives

	Britain’s decline as an imperial power made her retreat towards the idea of a community where responsibility could be shared. 
	Britain did not ever leave the top table within the international political arena 

	Britain wanted to be part of the economy because of the larger links they could make – EFTA only had Denmark, Switzerland, Netherlands, Austria and Portugal – none of the Six which showed they were missing out on imperative trade links. Particularly after the Suez debacle, the need for greater communities proved fundamental in the need for attack.  
	No they had EFTA and ECSC (best coal in the world) to help them and were not economically challenged; Britain still spent 7% of GDP on Defence spending and cannot be contested with other countries

	By 1964, after Macmillan’s Wind of Change speech.in South Africa, 18 countries had been released from the British empire and granted their independence. This process of decolonisation had meant the Empire slowly disintegrated as well as the trade agreements that had come with it. Imperial preference ha ended as a result. To a great extent the attempts to join the EEC in the 1960s was fuelled by Britain’s decline as a world power as decolonisation broke off many trading international relations. Only a supranational community would be able to restore such relations which could suggest accession in the 1960s was due to Britain’s declining influence. 
	It could be argued that the British status on the world stage was not a factor that created problems for accession. The American special relationship in the 1960s fuelled the desire to be in such an international community. Joining the EEC the British governments didn’t believe they were sacrificing sovereignty to be part of the supranational community. Rather, they were building greater ties with countries that were of equal powers and similar economies to them. Enforcing these relationships with countries already within Europe would essentially strengthen the Anglo-American hold on international affairs; which was the key reason Wilson and George Brown went to Paris in 1967 to negotiate terms of accession.

	De Gaulle’s veto in 1961 and subsequent veto in 1967 were in fear of the negative reputation Britain had on the world stage – despite the disintegration of the British empire and focussing on strengthening herself as a nation
	It could be argued that De Gaulle feared an overtly powerful Britain which would overtake its own influence. Therefore the assertion of Britain as a declining power becomes fallible as an assertion; because Britain did eventually gain accession a mere six years later

	After WWII the threat of another war (the Cold War) proved the need for greater security and closer integration of the world’s powers. Joining the EEC was following the crowd for Britain but in attempt to create united forces against the threat of war. 
	Britain had already been a member of NATO and the United Nations which potentially gave her a greater appetite for European integration by strengthening her security measures as war was declared. This doesn’t suggest accession  was due to the decline of Britain as a world power but rather the absolute antithesis; Britain’s tactics of strengthening her potential military bases if needed at war

	British accession was after by France just as much as Britain sought to be included and integrated herself. British governments strengthened in the 1960s creating a better and united front for negotiation. 
	By 1972, the French President, Pompidou suggested France needed Britain just as much as Britain needed France. This demonstrated the improvement and accelerating status of Britain’s position on the world stage as they had arguably grown and strengthened in influence 

	Increased partisanship in Britain was a factor that shifted motives in attemtps to join the EEC. The Labour Party were incredibly split on the issue of Europe; the pro European politicians including George Brown (the SoS for Foreign Affairs) and Roy Jenkins. The internal schisms within Labour could therefore be a potential factor as raging opposition from the Shadow Cabinet being divided didn’t present an incredibly cohesive government. 
	It could be argued that partisanship wasn’t a significant factor as both attempts in 1961 and again in 1967 were under different parties; illustrating the volatility of the parties and resultant decline on the world stage, politically. 


   
Labour lost power in 1970 because of its own failings in the years 1964 – 1970. Assess the validity of this view. 
	Labour lost power because of its own failings 
	Labour lost the election because of Conservative strength

	Consensus politics had reached a point of political stalemate by the 1970 election. Labour losing power seemed somewhat inevitable – The Conservative Party had managed to re-establish itself after the six years of Labour government, allowing them to build up an efficient means of opposition and eventually win government. This view is therefore incredibly relevant and valid that the Labour Party lost power in 1970 because of its own failings. 


	Economics; Labour administration was incredibly disjointed. The creation of the Department of Economic Affairs under George Brown created problems for Civil servants working at the Bank of England. The DEA overlapped with the Treasury so civil servants found themselves confused with who to take instructions from; Brown or Callaghan (chancellor). Brown’s National Plan had failed which could depict the Labour administration as inadequately equipped in dealing with economic problems – lacking the conviction the Conservatives had with economic policy. The Labour Party was forced to devalue the pound in 1967; both an economic and tabloid fiasco due to Wilson’s pound in your pocket speech
	On the other hand, Labour’s dealings with the economy was due to the colossal balance of payments deficit of £400million left behind by the Conservative governments of 1951- 1964. The balance of payments problem was an inherited problem rather than Labour’s own failings which could contest with this view.  Eventually, when Jenkins replaced Callaghan as Chancellor, tough deflationary measures helped to achieve a balance of payments by 1969. Heath’s speech at the Selsdon Park Conference in 1970 meant that tough approaches to economic modernisation (influenced by Keith Joseph) were adopted

	The vast influx of immigration from the Commonwealth states could have easily regained the seats to make up the key marginal constituencies. The Conservatives had to deal with Enoch Powell’s Rivers of Blood and ceased to make immigration the issue of the election. This presents the numerous opportunities Labour had to win which they failed to do; such as enthusing the immigrant demographic. 
	Heath won due to their strengths; the Conservative Party tiptoed across the political arena snatching marginal constituencies and effectively nullifying Labour’s biggest majority of 98; the biggest since WWII. The Conservative Party therefore tackled the FPTP electoral system suggesting Labour lost power due to its own failings 

	The poor economic situation in 1964 led to greater problems abroad. The application to the EEC was again vetoed in 1967 under Wilson’s administration facing a second veto from de Gaulle; the Labour Party entered the 1970 campaign somewhat at odds with the European issue. This caused deep schisms within the Labour Party, effectively polarising the party. Politicians including Benn were on the left of the Europe debate whilst Foot and Castle remained on the Labour Right.  
	Comparatively, Heath appeared as a Europhile having served in the Second World War and relished an idea of Europe. Debatably, the Conservative Party won the 1970 election due to their more coherent policies both at home and abroad; one policy being distinctly pro-European, and in favour of One Nation Toryism that had voter appeal.

	Labour was arguably too focussed on the liberalisation of Britain; desperate to drag her through a social revolution to the extent British foreign policy slacked. This illustrated the lack of cohesive and coherent immigration policy the Labour Party just simply didn’t have. 
	Discrediting Labour’s strength seems somewhat bias; undeniably, Labour had great liberalising legislation, including the abolition of the death penalty and the decriminalisation of abortion and homosexuality. The Conservative Party under Heath had a somewhat ruthless attitude towards immigration which they challenged Labour on whilst in opposition. This could be the reasoning behind many people voting Conservative in the 1970 election. The Conservative campaign was incredibly effective, despite how discriminatory it was; “Vote Labour if you want a nigger for a neighbour”

	Arguably, the Labour Party lost power due to their inability to control the unions – who were meant to be associated to the Labour Party itself. The breakdown of relations with the trade unions were epitomised by Barbara Castle’s In Place of Strife causing the resultant split of the Labour Party. Similarly the state of emergency declared  as a result of the Seamen’s Strike triggering the devaluation crisis illustrated the Labour Party’s inability to handle their own economy

	The Conservatives natural opposition against the unions and a cohesive strategy to tame and maintain them. The Conservatives similarly handled the economy in the same way. 

	Wilson’s lack of trust in colleagues and reliance on informal husting of the kitchen cabinet government his reputation for being devious. Labour failed to live up to its promises to modernise Britain in the white heat of technology. 
	Heath’s strength and unity resided in the Shadow Cabinet compared to Wilson’s kitchen cabinet 



More similarities than differences in domestic affairs in the years 1964 – 1979
	Yes, there were more similarities than differences
	No, there were more differences than similarities

	the underlying principles of a comprehensive welfare state survived
	differences of ideology which brought differences re taxation and spending priorities, e.g. welfare, housing and military expenditure 

	both sides were committed to the expansion of education – under Robbins Report, enforced by the Labour Party in 1964
	Labour's emphasis on Comprehensive Schools (although continued by Thatcher as Minister for Education) and new university expansion was different from the traditional Tory approach

	both parties shared similar restrictive immigration policies in 1960s
	the parties took a slightly different approach to Race Relations with Labour setting up the Race Relations Board

	both sought social peace by controlling the Trade Unions. (Even Labour tried to restrict freedoms – 'In Place of Strife')
	Wilson's government introduced distinctive liberalising legislation – Abortion Act, Sexual Offences Act, Theatres Act, Abolition of Death Penalty

	both parties tried to increase investment, improve productivity and competitiveness and modernise the British economy. They both followed regional policies involving the development of declining areas, e.g. Welsh valleys, Durham
	Labour challenged the Tory Establishment and emphasised that policies would be shaped by the 'white heat' of Science and Technology from 1964.

	both sides were committed to full employment and believed in Keynesian methods – Butskellism
	


‘Labour governments had more successes than failures in domestic affairs in the years 1964 to 1979.’ Assess the validity of this view. 
	Successes in domestic affairs
	Failures in domestic affairs

	The social and educational legislation particularly the launching of the Open University by Wilson’s government 
	Politically, the most vociferous of Labour’s critics came from within the party itself and perhaps ultimately the Labour governments failed because they could not control their own supporters.


	Harold Wilsons image, management and tactics of moving the nation in tune with the white heat of the technological revolution. 
	Harold Wilsons failure to deliver his policies throughout – and his shock resignation in 1976 ensured the Callaghan takeover, and his loss in the 1979 election caused the initiation of the 18 years of Conservative dominance. The high optimism that came from 1964 didn’t materialise and was possibly too optimistic; breaking consensus politics was difficult and certainly not achieved by the Labour governments. 

	Despite the difficulties with huge balance of payments problems in both 1964 and 1974 by 1969 and 1978 the economy was improving. Particularly under Callaghan, he cut inflation from 24% to 8%. This can be seen through the gap between the richest and poorest being narrowed. 
	Benefits were used rather than a direct redistribution of wealth. More importantly the promise of a white heat of technological revolution finished in the debacle of the Winter of Discontent, which eventually became just as much economically problematic as it did political. The most humiliating part of domestic policy economically was the IMF loan crisis where Healey went to the IMF for a loan of £3bn causing great damage to Labour’s credibility and again making them the party of devaluation. 

	Social improvements and liberalising legislation including the abolishment of capital punishment, legislation legalising abortion etc.
	Legislation is only part of the government’s role, domestically. Politically, there were immense difficulties resulting in the Who Governs Britain election of 1974. There was in fact two elections, in 1974 and the Labour Party’s win was one of a minority government if that. 

	Labour was seen as pragmatic to deal with external events, particularly the 1973 oil price crisis 
	The failure of Labour to curb the power of the trade unions remains one of their greatest flaws. Trade unions were the very group within society who created the Labour Party – the inability to curb power from their own people demonstrated the instability of the Party on a domestic level. 



The loss of the 1979 election by Labour was inevitable. To what extent do you agree with this statement? 
	Inevitable
	Loss of Labour was a surprise

	The election was called after the memories of the Winter of Discontent. The economic situation called for re-election. 
	Labour had postponed holding the election in 1978, of which had they held they probably would have won. Callaghan had tackled inflation – which could suggest Labour losing was a surprise, as this had been an achievement and proof that Labour did know how to run an economy

	Labour appeared incredibly vulnerable on the issues of unemployment, law and order and the excessive power of the trade unions demonstrated the weakness of the old union leadership
	The Conservative Party didn’t put in any  measures that would aim to resolve these issues – the 1974 Who Governs Who election springs to mind, as the inability of Heath to tame the unions could suggest the lack of comprehensive planning on unemployment or law and order. When evaluating these issues with the benefit of hindsight, it could be argued that the loss of a Labour government could have prevented the rising unemployment figures of 3.2million under Mrs Thatcher and the politicisation of the police. 

	Mrs Thatcher appeared as a pragmatic, energetic female; a refresher to James Callaghan. Power was slipping away from Callaghan; whilst he was sunning himself in Guadeloupe, the rest of the country was shivering in the Winter of Discontent and power dressed Margaret Thatcher appeared on the political scene
	Mrs Thatcher’s past reputation in the Department of Education ceased to give her the best opening impressions when standing at the PM box in the House of Commons. She had notoriously been dubbed as Thatcher, Thatcher, the milk snatcher, after cuts to government spending ensured the creation of the Open University. 

	Callaghan lost a vote of no confidence on the issue of Scottish devolution and the Labour government were forced to resign. This proved the government was weak and lacked the credentials to continue, even if they were to stand again. The record of the incumbent PM resulted in the failure of Labour during the election
	Callaghan was liked as a PM; despite the Winter of Discontent and issues with the three day week in the 1970s, Callaghan’s greatest achievement of tackling inflation couldn’t win back the majority in the Commons. The loss of Labour cannot be seem as inevitable if 269 MPs retained their seats – which debatably argues differently/ 



The record of the Labour governments in the years 1964 – 1979 was one of continuous failure. Assess the validity of this view.
	Continuous failure
	No, not CONTINUOUS failure, some successes

	Although the Labour government of 1979 collapsed with a humiliating vote of no confidence. There were flaws in both administrations
	The entire record of the Labour government (1964-1970; 1974-1979) was not of complete failure. Wilson’s dynamic personality won him the government in 1964 despite it being an incredibly slender majority of 4. Cannot call it a complete continuous failure. 

	The promise of a dynamic future ended as the sixties became the period where challenges to the Establishment were becoming more pertinent. By the end of the second Labour administration, in 1979, industrial unrest became an uncontrollable problem. The total of working days lost to strikes peaked at 29 million with as many as 1.5 million strikes taking place in the course of a year. This tarnished the reputation of the second Labour administration 
	The promise of a dynamic future after thirteen years of Tory misrule seemed an appealing prospect to many Labour voters in the 1960s.

Both administrations occurred in different political climates as the 1964 inhibited a feel good attitude in the nation. Moreover, the sixties had Wilson appear as more conciliatory and this enthused the youth vote.

	The premise of expanding higher education had always been instigated by the Conservatives. The Robbins Report of 1963 had formed the foundations of expanding higher education and was enacted by Labour, but under the Conservative government. 
	Labour gained landmark gains with the expansion of higher education and the implementation of greater female participation at university. Labour improved female attendance, from 5 to 10% during their first administration. 

	Economic policy; poor handling of the economy particularly in 1974. The failure to devalue the pound in 1967 and the resultant creation of the Department of Economic Affairs created greater issues than the Labour government initially anticipated. The establishing the DEA was problematic as it overlapped with the treasury too frequently. Decisions were more prolonged with economics. 
	Labour inherited a balance of payments deficit of £400 million – the actions of the Labour governments was therefore cautious despite the bleak conditions and volatility of the economy. However, considering the economic climate, the Labour government cannot be regarded as a complete failure; Callaghan’s chancellorship reduced inflation from 24% in 1974 to 5.5% in 1979 and this was regarded one of the greatest achievements of the 1974-1979 government which also could be recognised as the Launchpad into his premiership as Prime Minister 

	Social liberalisation went too far under Labour, as Labour politically declined due to greater challenges to the establishment. The Green Party for instance formed as a movement and minor parties continued to take much of the spotlight away from Labour. Arguably, the failure of Labour contributed to the decline of the two party state; making the political arena much more volatile. 
	Excellent at managing social issues. Liberalising legislation in the form of the Equal Pay Act of 1970 and the Race Relations Act; relieving social tensions during the period. Wilson was at the heart of the white heat of the technological revolution suggesting the two Labour administrations contributed to the social revolution Britain faced. 

	Under the second Labour administration, the second application to the EEC was rejected; demonstrating the effect of continuous failure of the Labour Party to attempt accession. Europe continued to drive hard divisions in the party, polarising it. In terms of foreign policy, Britain experienced imperial decline and Britain remained the sickman of Europe. 
	Poor international relations work both ways however; military bases were being withdrawn with the Labour Party continuously cross examining and reassessing Britain’s position in the modern world. Rhodesia became the independent Zimbabwe in this period too – demonstrating Labour’s priorities in foreign policy. 



Margaret Thatcher’s handling of European and world affairs pleased her supporters but damaged British interests. 
	
	

	Defeating the Argentinian junta, Thatcher could proudly claim to have collected General Galtieri’s scalp under her belt. Slaying the dragon of Las Malvinas unleashed a national wave of patriotism in Britain; British people welcomed home the ships from the Falklands in celebration of Thatcher’s handling of world affairs. 
	Comparatively, it could be argued that the sinking of the Argentine Belgrano damaged British reputation at home as the Belgrano warship was sailing back towards Argentina when it sank. British credibility had somewhat depleted even if it wasn’t recognised immediately. The Falklands War remains a mere blip in history as the long term British interests were depleted. British interests were somewhat damaged as diplomacy had evidently failed. Lord Carrington’s approval of the withdrawal of HMS Endurance illustrated the supposed withdrawal of the British from the Falklands. Falklands demonstrated the lack of diplomacy in Thatcher’s dealings abroad

	Mrs Thatcher’s supporters were pleased with her willingness to negotiate with Gorbachev over the reunification of Germany. The Anglo-German relationship had been frosty since the Second World War and the positive Soviet influence impressed Mrs Thatcher’s supporters; demonstrating her willingness to cooperate in Europe. The Eastern Europeans dubbed Mrs Thatcher the Iron Lady in approval of her leadership skills. 
	Contrastingly, whilst Thatcher and Gorbachev did business together, Thatcher’s dislike for Kohl the German Chancellor damaged British interests. This was ironic as Kohl and Thatcher were ideologically very similar. Mrs Thatcher’s combative style of leadership led to pointing out too often that it was the British that were helping the Germans; illustrating the damage done to British interests. This is further evidenced by Mrs Thatcher not being invited to the lavish celebrations at the 10 year Cold War anniversary. 

	With regards to the EEC, Mrs Thatcher’s supporters would argue her handlings were impressive in achieving the rebate and getting my money back!!! After the famous No, No, No speech. Mrs Thatcher signed the Single European Act and entered the Exchange Rate Mechanism which proved her economic conviction. 
	Debatably, British destiny in the EEC itself was surprising as the 1975 referendum had failed to decisively present whether Britain belonged in Europe or not; British interests were further damaged when Mrs Thatcher made her famous Bruges speech in 1988 which depicted her as a Eurosceptic to some but overall presenting Britain as unsure of remaining in what had previously been a purely economic union – to what was becoming an increasingly supranational community. Mrs Thatcher’s rejection of federalism all but pleased her supporters. The Sun’s front page was Up Yours Delors! Illustrating the clash with the head of the European Commission, Jacques Delors 

	The handling of the Cold war orchestrated the special relationship that pleased Mrs Thatcher’s supporters. Mrs Thatcher and President Reagan were dubbed the Ronnie and Maggie show illustrating the improved Anglo-American relationship – the best it had been since the Second World War. The Ronnie and Maggie show eroded all past memories of Vietnam, the OPEC crisis and the failure to influce in the Yom Kippur War. 
	The only contradiction was the American invasion of the British colony, Grenada; but this was minor compared to the Cold War. 




‘Margaret Thatcher’s achievements as prime minister in the years 1979 to 1990 were limited.’ Assess the validity of this view.
	Achievements were not limited
	Achievements were incredibly limited 

	As well as being a revolutionary and the longest standing prime minister, Mrs Thatcher’s legacy outshone the preconceived ideas the public had of her when she was heading the Department of Education – her legacy is probably more than what any historian could have ever anticipated .
	Becoming the first female prime minister essentially alienated female voters so that the Conservatives no longer gained the majority of the female vote. The Labour Party passed the Equal Pay Act in 1965, which probably did more for women than Mrs Thatcher ever did. 

	Mrs Thatcher slayed the dragon of the trade unions getting Arthur Scargill’s scalp under her belt. By smashing the excessive power of the unions, Mrs Thatcher changed the dynamics of the British political system – saving Britain from situations of Who Governs Who? Reasserting her role as prime minister of Britain
	By removing the excessive power of the trade unions, through fighting the Miners in 1974; Mrs Thatcher politicised the police effectively polarising society too, before removing the metropolitan authorities all together – suggesting a large sense of betrayal in Great Britain. The miners out of work contributed to the unhealthy unemployment figure of 3.2million in the height of Thatcherism.  

	Mrs Thatcher was an international stateswoman – maintaining relationships within the EEC and the special relationship as well as the Commonwealth. The European relationship was crucial in maintaining economic harmony in Britain; the Ronnie and Maggie show ensured a more equal footing upon the international stage, and particularly during the course of the Cold War. Mrs Thatcher put aside her differences and worked with Gorbachev and ‘did business’ with him. Mrs Thatcher’s stunning win at the Falklands demonstrates her conviction and passion about the Commonwealth – slaying the dragon of Las Malvinas unleashed unanimous amounts of patriotism over Britain 
	Internationally, Mrs Thatcher was depicted as a Eurosceptic, particularly after her famous No, no, no speech, emphasising her poor relations with Delors – The Sun famously headlined Mrs Thatcher saying “Up yours, Delors!” causing an alienation of European partners and her Bruges speech. British contribution was not as well acknowledged as well as it was delivered. Mrs Thatcher’s key role in winning the Cold War was not reciprocated – she wasn’t invited to the tenth anniversary to commemorate the building of the Berlin Wall. 

	By rolling back the state frontiers, Mrs Thatcher saved Britain from immense economic decline by privatising – creating a more efficient economy. The most unproductive industries were taken by private companies or inherently removed. The privatising streak came into full expanse in 1984, after the privatisation of British Telecommunications, followed by British Aerospace and British Gas. 
	It was only due to sheer political and economic coincidence that North Sea Oil came on stream to remove the coal mines – privatisation and removal of the mines would not have worked had the oil not come on stream. Mrs Thatcher played upon limited government and attempted to mirror the American political mode; with trying to remove government influence from industries that didn’t need involvement 

	Mrs Thatcher transformed Britain into a property owning democracy – the 1980 Housing Act gave 2 million people the opportunity to buy their own council homes. This ensured citizens (particularly immigrants) had somewhere they could call home – enhancing the creation of communities. Heseltine, the Minister for Environment said “no single piece of legislation has enabled the transfer of so much capital wealth from the state to the people” – epitomising Thatcherite principle; the decentralisation of central government to the people. 
	She encouraged private greed at the expense of public good; the house stock somewhat depleted after 1 in 3 people buying their own council houses. The somewhat vociferous Right to Buy programme resulted in the less popular poll tax – amounting to the payment of tax for each individual on the electoral register. This meant, regardless of the price/worth of the property, tax was at a flat rate per person. Mrs Thatcher increased VAT which was seen as a direct attack on the poor



‘Margaret Thatcher failed to achieve any lasting social or economic transformation of Britain despite her claims to have done so’.
How convincing is this view of her record in power in the years 1979-90?
	Thatcher failed to achieve any lasting social or economic transformation of Britain 
	Thatcher DID achieve lasting social or economic transformation of Britain

	Whilst some people enjoyed their newly bought owned homes, others protested about the poll tax introduced in 1988. Right to Buy incentivised the purchasing of homes, literally dangling a carrot on a stick. Arguably, Thatcher failed to achieve social & economic transformation when she introduced Poll Tax which effectively erased her successes and reputation that Right to Buy gave her. Poll Tax attacked the poor, damaging any social/economic triumphs Mrs Thatcher had previously ordained.
	Thatcher revolutionised Britain into the property owning democracy that it continues to be today with the 1980 Housing Act. The Right to Buy programme saw the purchasing of 2 million council houses by their respective tenants. Helping citizens to buy their own homes, particularly in the case of immigrants helped ensure the assimilation into communities and helped to create a more independent and less reliant Britain. Right to Buy is still a scheme today, illustrating the transformation of British society and property. 

	Closing the mines inhibited an immense unemployment issue, of 3.2 million miners; this was a case of structural unemployment. Rehousing them was difficult, as the councils felt a shortage as a result of Right to Buy taking many properties away. It was a case of coincidence that the North Sea oil was coming on stream, that she could close the mines – socially she destroyed many families lives, taking away the job of the breadwinner; failing to retrain them in another industry
	Slaying the dragons of the trade unions ensured Mrs Thatcher got ‘Scargill’s scalp under her belt’. Without the successive triple Thatcher administrations, the power of the unions would cease to have been curbed. Under the Heath administration, an election was battled on governance, dubbed ‘Who governs who’ – Mrs Thatcher showed the unions who governed Britain, by closing the mines and smashing the last element of the post war consensus, bashing it with her handbag. 

	Mrs Thatcher’s monetarist policy divided the Cabinet; foreshadowing the division of Britain. An underclass were ultimately created, as property owning, share owning Britain progressed, those not in tune with monetarist policy at the lowest incomes suffered at the hands of Mrs Thatcher. Poverty increased, as those 20% at the bottom of the population received 5.6% of the national income
	According to Evans, Thatcher ‘danced on the grave of Keynesian consensus economics’ – commitment to full employment. Thatcher rolled back the frontiers of the state and this privatisation revolutionised the British economy as inspired by American economist Friedman. The priorities changed for the first time since post war Britain – SHE WAS THE ARCHITECT to achieving economic harmony. Thatcher moved the top rate of tax from 83% to 60% for the highest earners – tax reduced significantly under Mrs Thatcher to a more efficient rate. 

	The EEC ceased to be a purely economic community. She encouraged the states within the community to not sacrifice their sovereignty and certainly didn’t want to sacrifice Britain’s sovereignty to ‘unelected bureaucracies in Brussels’. Under the Maastricht Treaty, it was becoming a political, social, foreign supranational community besides being common market – Thatcher failed to achieve social/economic transformation of Britain due to her negative relations within Europe, particularly with the Chancellor Helmut Kohl. 
	She signed into the EEC, Single European Act, entered into the Exchange Rate Mechanism to ensure inflation wasn’t to rise; in 1990 it was at 10.9%. Thatcher had a commitment to low inflation, and becoming part of the European Community, as she understood that the destiny of Britain remained in Europe, taking Britain from being the ‘sickman of Europe’ into being an influential member on the world stage. 

	Whilst she decentralised government, she put in more government influence into things like education; she contradicted herself in using greater amounts of government funds to get education moving forward; the introduction of Ofsted, National Curriculums. Created an elitist society where the incredibly intelligent kids got onto the Assisted Places Scheme. Diminished any sense of social transformation and widened the gulf. 
	Curbed the power of left wing local councils; from the left wing maverick, Ken Livingstone. She decentralised government by rolling back on the state frontiers. They were blamed for wasting resources – the Greater London Council and metropolitan authorities; allowing central government to increase at the expense of local government.   



‘Britain remained a major world power throughout the years 1951 to 1990.’ Assess the validity of this view
	Yes Britain remained a major world power
	No, Britain ceased to be a major power
	Mini conclusion/
historians view

	The British Empire and later Commonwealth illustrated Britain as a major player on the world stage, simply due to the involvements she had within the world – and across the breadth of the continents. Britain became a permanent member of the UN Security Council and NATO suggesting the British involvement on a supranational level.
	The decolonisation process meant that Britain was declining as a world power. The Wind of Change in some ways worked against the reputation of Britain internationally, making it seem as if Britain was losing her grip on world affairs. Independence of the Gold Coast caused decolonisation to occur at an accelerating pace – with a wind rush. 
	After Rhodesia, the case of Hong Kong and Gibraltar remained the only two loose ends for British. However, Britain losing her vast expanse of power demonstrates a great loss. 

	The Suez Canal gave the British the ability to commander the economy; Suez was the main artery connecting the trade routes beyond Asia and Australia. 80% of European oil imports passed through Suez Canal – demonstrates the control the British had over the world economy. Britain was one of the world’s largest economies, with overseas commitments and global interests. 
	The embarrassment and humiliation at Suez depicted Britain’s weakening and decline as a world power. The British and French failed intervention, agreed at Sevres presented the British as having a lack of military capability, and unable to maintain the promise of intervention. This debacle effectively removed relations with Israel, Egypt and France – essentially declining relationships across the world. In the 1970s, the Labour Chancellor Healey had to go to the IMF for an emergency loan of £3billion. This demonstrated the surrender of British economic sovereignty. 
	Suez ended in a debacle, and Eden, who was meant to be a specialist in foreign policy actually allowed that to be the crux of his failings 

	Britain’s creation of EFTA and the ECSC in the late 1950s illustrated Britain’s opportunity at suggesting their importance, economically on the world stage. The British possessed the best coal production in the world.  Britain’s involvement in Europe allowed Britain to continue dining at the top table of the international stage. Despite the difficulties of accession, by 1973, the French needed the British just as much as the British needed the French; the Six became the Nine. 
	Two failed attempts at accession in 1963 and subsequently 1967 to the EEC proved the French didn’t want the Community to be infiltrated by les Anglo Saxons. Entrance to Europe was at the expense of accepting new realities and changed tactics – realising Europe was the opportunity to claim equal footing on an economic platform with the European counterparts. However, the expense of joining a supranational community meant that economic sovereignty had to be sacrificed to unelected bureaucracies in Brussels. Britain ceased to be a world power if she belonged to another community – previously having an entire Empire. It appeared as a step back for Britain 
	Economically, Britain was often seen as the sick man of Europe, and later PM, including MT appeared Eurosceptic. 

	Britain had nuclear capability and British involvement in the Cold War highlighted her influence on the world stage. The special relationship enhanced British position as she was likened to America – Mrs Thatcher and Reagan’s efforts to end the Cold War suggested the enhanced Anglo-American relationship as well as succeeding internationally in defeating the threat of communism Winning The Falklands War demonstrated Britain to have conviction as a world power and retain dignity on the world stage – seizing what belonged to them. 
	The Americans didn’t always see Britain as an equal counterpart in the so called special relationship. Perhaps what’s so special about it is the tipped balance, favouring the Americans. This was definitely the case in Grenada – where the Americans didn’t ask to invade the Commonwealth country and proceeded anyway. 
	After the Ronnie and Maggie show, the relationship Anglo-American relationship hasn’t been as strong. 


Loved abroad and reviled at home. To what extent is this a accurate assessment of the Thatcher years? 
	Loved abroad – accurate 
	Loved abroad – inaccurate 

	Ronnie and Maggie show – Mrs Thatcher and President Reagan had a special relationship. Thatcher and Reagan rubbed shoulders in the gardens of the White House. Internationally, she was seen as the equivalent of Reagan; and arguably attempted to mirror his political system of operating an EXOP and turning No.10 Downing Street into a reflection of the White House, with her closest advisors assisting her to carry out spatial leadership. 
	Britain (and Mrs Thatcher) were seen very much as the American poodle; stressing that they were not equivalents on any level. For instance, when America was to invade the British Commonwealth island of Grenada, Reagan didn’t ask permission from Thatcher – proving the inequality 

	Falklands Islands – the people of Las Malvinas claimed to be British; relating themselves to Mrs Thatcher’s Commonwealth. Winning the Falklands War, and defeating the junta and General Galtieri ensured Mrs Thatcher was loved – nationally and internationally; this was Mrs Thatcher’s turning point in British and international politics
	The Argentinians certainly didn’t like Mrs Thatcher as she didn’t look to diplomacy and simply declared that a naval task force would be needed to remove the Argentine forces; reasserting the rights of the Falklands Islanders.  

	Cold War; Reagan, Pope John Paul II – Mrs Thatcher’s combative style of leadership and determination to confront the USSR proved consensus with what became the Cold Warriors. Mrs Thatcher got on well with the young reformist leader of the USSR;  I like Mr Gorbachev…he and I can do business together – illustrating their commitment to ending the Cold War
	The Soviets dubbed Mrs Thatcher the Iron Lady; for her ferocious and roving foreign policy agenda. However, this nickname was coined by a journalist rather than the real relationship a historian should investigate between the leadership of both Britain and the USSR

	Mrs Thatcher however, passionately fought and won a number of battles against the excessive powers of Brussels. She played a key role in 1975 campaigning for the UK to remain in Europe as well as entering into the Exchange Rate Mechanism and signing the Single European Act which created the single European market 
	With regards to the EEC, Mrs Thatcher certainly wasn’t loved abroad. Her Eurosceptism following the Bruges speech as well as her famous No, No, No speech proved her apprehensiveness to the supranational community. In 1980, she called for the UK’s contributions to be adjusted or she would withhold the VAT – I want my money back! Mrs Thatcher’s relationship with Jacques Delors became somewhat comical to the British tabloid press – Up Yours Delors! Illustrated the fractured relationship Britain had with the European Commission. Similarly, the relationship Mrs Thatcher had with the German Chancellor, Kohl, despite being ideologically very similar to him illustrates how Mrs Thatcher was not at all an international stateswoman as she is sometimes remembered to be on accounts of few international successes. 

	reviled at home – accurate; particularly after her poll tax/community charge Act of 1989 was Mrs Thatcher reviled at home. She was seen as inadequate as a PM in looking after every echelon of society. She ceased to believe in a such thing as society! The Poll Tax riots of 1990 demonstrated a time in which Mrs Thatcher was reviled. The disorder in London resulted in a confrontation between the Metropolitan Police and the protestors. Mrs Thatcher was further criticised to have politicised the police – having got involved in the miners strike from happening in 1983/84 and once again with poll tax nearly a decade later
	reviled at home – inaccurate: prior to poll tax, Mrs Thatcher was loved at home too; literally. The 1980 Housing Act gave 2 million people the opportunity to buy their own council homes; creating a property owning democracy, debatably one of  Mrs Thatcher greatest social achievements of  her time in office. 



The Conservative government won the 1983 election due to the weakness of the opposition. To what extent is this statement accurate on the 1983 election?
	Strength of the Conservative Party
	Weakness of the Opposition 

	The 1983 election was won on a culmination of factors. Whilst victory at Falklands appeared to be the absolute vindication of Thatcher’s bold leadership; the Falklands were not the sole reason for the win 
	Analysis of the results would argue that the opposition and decomposition of the two party system is what led the Conservatives to a 144 seat majority in 1983

	The number of seats the Liberal/SDP Alliance gained, 23, ceased to match or even alter the majority of the Conservative Party’s near 400 seat win. Whilst the Liberal/SDP Alliance in opposition made an impact, it was their weakness to defeat the FPTP electoral system that caused the Conservative victory.
	The resurrection of the Liberals from the political dead ensured the Labour Party would fail to have any sort of majority in the election. Arguably, the Liberals/SDP Alliance were a mere 2.2% behind the Labour votes; illustrating the transition into a three party state. 

	Despite the increased polarisation of the party, the anti Conservative vote remained at 16 million, 3 million more than the Conservatives. The success of the Conservative Party is therefore more accurately attributed to the electoral system favouring them more. 
	Prior to the Liberals and SDP Alliance merging in the late 1970s, the Gang of Four (Williams, Owens, Rodgers, and Jenkins) created the more right wing element of Labour making internal divisions more deep rooted and increasingly polarised. The Labour Party divisions caused a weakness in the opposition during the election campaign. Labour appeared disunited; MP Kaufman famously remarked the Labour manifesto was the longest suicide note in history. 

	Mrs Thatcher slaying the dragon of Las Malvinas and getting General Galtieri’s scalp under her belt unleashed a wave of patriotism in Britain. Thatcher remained at an all time high with domestic politics as a result of being international stateswoman. The Falklands Factor could therefore be an increasingly prominent reason behind Thatcher’s 1983 win. Thatcher’s popular vote peaked at 13 million – achieving 42% of the vote.  
	The collective opposition was all but weak even through the re-emergence of a third party. 

	Economics under Thatcherism ensured the dragon of inflation was slayed through monetarism (cutting the money supply) and deflationary methods including privatisation; which arguably won her the 1983 election – coupled with her Right to Buy scheme ensured Britain became a property owning democracy. Allowing the widest possible opportunity to buy their own homes, Thatcher appealed to the middle class Tory voters  
	Labour had a continuously poor reputation with economic policy remained a ghost not forgotten in the minds of many voters. Weakness of the opposition to present a viable set of manifesto aims to tackle any real problems including the economy led to the Conservative success in 1983. The Labour Party were more concerned with quaint and feeble issues including unilateral disarmament and fox hunting. The Liberal-SDP Alliance presented pavement politics whilst Thatcher’s first term convinced the electorate of the benefits of rolling back the state frontiers. On an economic level, Mrs Thatcher was well equipped to slay any dragon that dare cross her path.

	Monetarist policy transitioned; in the first – the top rate of income tax went from 83% to 60% whilst the basic rate of tax dropped from 33% to 30%. The electorate were impressed by the monetary policy 
	This amplified the weakness of the opposition; would they be able to provide similar policies for a somewhat demanding electorate. 





The Conservative electoral victories owed more to the weakness of its Labour opponents than the strengths of Margaret Thatcher in the years 1975 – 1990. Assess the validity of this view. 
It is beyond a doubt that Mrs Margaret Thatcher’s eleven year premiership and tenancy at No.10 Downing Street was due to the strengths of her orchestration of government rather than simply a weak opposition. How else would one Prime Minister remain in office for three successive administrations, uninterrupted? This was due to her rather ruthless policy which allowed her to sustain government from 1979 – 1990; the first time a Prime Minister has done so since the Napoleonic wars. 
	The Labour Party’s weakness in opposition assisted rather than dominated the Conservative Party’s successive wins in the period. The vote of no confidence on the issue of devolution that ousted Sunny Jim Callaghan from the House of Commons can be attributed to Thatcher’s sheer political mastery; having been leader since 1975. Mrs Thatcher had time to build up the party machine, ready for the election in 1979. 
	Whilst Callaghan was away, sunning himself in Guadeloupe, he left Britain shivering in the Winter of Discontent. Thatcher’s appearance acted as political mastery as she tamed the unions and saved Britain from its Winter of Worries. Mrs Thatcher appeared as a vitalised and energised leader, compared to Callaghan who seemed complacent having spring boarded into his prime minister role in 1976, following Wilson’s shock resignation. Furthermore, Mrs Thatcher winning a 43 seat majority in 1979 illustrated the strength of her political campaign – with a workable majority. 
	The people of Britain had demanded change and had achieved it. Labour was uncontestably weak, yes, but it was the pragmatism of the Conservative Party under Mrs Thatcher that achieved victory in 1979

	Similarly, the 1983election was also won on the strengths of Margaret Thatcher rather than just Labour shortcomings. Mrs Thatcher’s Right to Buy incentivised the market and the economy – creating a property owning democracy. Heseltine argued that the 1980s say the greatest transfer of capital from the state to the people; epitomising Thatcherite principles. Under the 1980 Housing Act, two million people were given the opportunity to purchase their own council homes at a smaller price to the private market. Alongside this, Mrs Thatcher rolling back the state frontiers ensured the more ordinary citizens were able to buy shares in private markets. The selling off of BT commenced the denationalisation of British industry. This affected the 1983 election through the political mastery of Mrs Thatcher; particularly in the media through TV adverts, including if you see Sid, tell him. 
	The Conservatives therefore appealed to an inept middle class of Tory voters – those living in the share owning democracy. The Conservatives appeared as an umbrella party whilst the Labour Party appealed to a niche – the Labour Party unable to be attractive and essentially electable. The Labour Party manifesto was famously declared the longest suicide note in history – by MP Kauffman, too focussed on quaint issues including unilateral disarmament and fox hunting. 

	The most significant factor of the 1983 election  is however, amounted to more than domestic political success of the Conservative Party under Mrs Thatcher. The defeat of the Argentinian junta in Las Malvinas allowed her to get General Galtieri’s scalp under her belt; unleashing a national wave of patriotism at home and abroad. The Falklands Factor arguably won the 1983 election with a 397 landslide win, a 144 seat majority. 
	The shortcomings of the Labour Party cannot even contest against Mrs Thatcher’s stunning win. However, the Labour divisions helped to assist with the win but certainly ceased to be the sole reason for the Conservative win. A divided opposition certainly ensured the favouring of the FPTP system in favour of Mrs Thatcher’s Conservative Party. Despite the Liberal Alliance being only 2%/half a million votes behind Labour, they got 186 less seats. The formation and splitting of the SDP caused the opposition vote to split far too many ways. 

	The 1987 electoral win proves very different to the successes of 1979 and 1983. Comparatively, it could be argued that it was the Labour shortcomings that assisted in the success of the Conservative Party. By 1987, the two previous term policies began to have startling ramifications and consequences. For instance, the Right to Buy dangled a carrot in front of many voters noses. The direct consequence of this was the enforcement of poll tax – a flat rate of tax paid on the number within the household rather than the value of the property. The direct rate of income tax falling and the increase in VAT had a significant impact and was addressed as a direct attack on the poor. The politicisation of the police and decentralisation of power from left wing councils caused problems beyond repair for the Conservative Party. 
	However, it was the weakness of the Labour Party that led to Mrs Thatcher’s third successive win. The anti-poll tax riots pressure group, Militant Tendency began to take effect. Labour ceased to be of political significance, still proving to be an inadequate means of opposition for the Conservative Party 
	



In conclusion, it could be argued that the Conservative electoral victories owed more to the strength of Mrs Thatcher in the first two elections but rather to the weakness of the Labour Party more so in 1987. Mrs Thatcher’s legacy is regarded as historical and her election successes were due mainly to her ruthless policies. It is therefore the reason she retained government for three successive and interrupted terms, the first Prime Minister to have done so since the Napoleonic Wars. 
Decline in support for the Conservatives and their continued electoral unpopularity were due to the legacy of Margaret Thatcher. Assess the validity of this view of the years 1990 – 2007. 
Mrs Margaret Thatcher stood down as Prime Minister and eventually party leader when Michael Heseltine challenged her leadership. Prior to the 1987 election, no Prime Minister had achieved three successive wins since the Napoleonic wars. Mrs Margaret Thatcher’s legacy leaves her eponymous to modern British history; however, her legacy ceases to end as she stood down from power. Her legacy lived on through John Major’s Conservative government – permitting the Conservatives to enjoy 18 years of Conservative dominance. After the 1992 election however, it could be argued the fragmented foundations of Thatcherism contributed to the continued electoral unpopularity of the Conservative Party. 
 John Major actually commented, at the 1997 election that “winning four election victories were fortunate, winning a fifth would be impossible”, suggesting the 
	
	

	
	

	
	

	
	

	
	

	
	



British society was little changed from what it had been in 1951. Assess the validity of this view. 
	
	

	
	

	
	

	
	

	
	

	
	



No government, Conservative or Labour was able to stem Britain’s economic decline. Assess the validity of this view. 
Hobsbawn – until the emergence of Thatcherism creating private affluence and public squalor Britain’s economic performance was positive. Positive economic performance is derived from the idea of full employment, strong union defence and a large welfare state that created a golden age for British people. 
Letwin would argue that Conservative governments, particularly that of Margaret Thatcher’s was crucial in giving the bitter economic medicine of monetarism and neo-liberalism to return Britain to economic stability, following consensus/Keynesian economics. 
Britain’s decline was inevitable and couldn’t be reversed; it could be managed in different ways which Conservative governments did better in. The Labour governments were concerned more with the liberalisation of Britain and there are countless times of which the Labour Party proved their economic incompetence – with the creation of the DEA as a very basic example. 
	The Buskellite period was known as a golden age. Both Conservative and Labour governments accepted Keynesian economic theory as well as socialist principles. Both governments maintained the commitment to full employment, mixed economy and a welfare state. The never had it so good speech by Macmillan would suggest there was no economic decline in the post war era
	Macmillan’s speech warned about the perils of inflation – the speech posing as a double edged sword. Similarly, Britain was flourishing as an economy – but this wasn’t true when compared on the world stage. Industrial production in Europe was three to four times the amount of Britain and ten times the amount in Japan. This could be demonstrated as Keynesian mismanagement of the economy. 
	Attributing the relative decline to the governments seems both unfair and wrongly accusatory. Countries like Germany and Japan were able to spend money in reconstructing the economy following the war – Britain couldn’t do this and spent 7% of GDP on defence measures.

	Butskellism inhibited short termism and therefore lacked a coherent long term strategy. Britain’s productive capacity did not increase quickly enough. In the 1950s, Conservative government exploited the economic cycle for electioneering purposes and gave away tax cuts of £134 million prior to 1955 and £300 million. They would then have to claw this money back as the economy overheated and inflation threatened to spiral out of control – as occurred in Butler’s final budget. 
	This view overlooks the social consequences of economics. Britain became increasingly mobile and a classless society. The inequalities of the past were being eroded and homelessness was virtually unheard of. 


	Britain’s relative economic decline is ignored and the issue of inflation proves that the Buskellite approach cannot be sustained indefinitely 

	The Wilson approach attempted to implement long term strategy but was unable to do so and instead had to focus on crisis management – maintaining the sterling in the face of repeated speculative attack, and the premise of devaluation. Heath had a long term strategy outlined in the Selsdon Park programme but was constrained by poor relations with the unions, particularly the NUM. Clarke points out his successive U-turns and argues that this pantomime cannot have been what he had intended. This depicts the deep structural problems and a disturbing frailty within the British economy; militant unions, an inability to modernise, bloated overmanned state monopolies and an education system that couldn’t meet British needs and effectively squandered British talent. 
	Thatcherite historians like Letwin see economic growth as something worthwile for its own sake; more left wing historians would see economic policy as affecting the poorest and most vulnerable in society.
	This makes Hobsbawm’s position difficult to defend.

	Thatcherite historians are keen to dramatize the stagflation problem of the 1970s and to trumpet the success of Thatcher in eventually conquering inflation. There is some merit to this and Thatcherism did reduce inflation to a manageable 5% and in the mid-1980s brought about growth rates of 4% outstripping many of Britain’s rivals. 
	Thatcher as a saviour of Britain comes with a pinch of salt however – the North Sea oil coming on stream effectively reduced inflation and fuelled groth to ensure a healthier balance of payments 
	Thatcher removed Britain’s structural problems as she enhanced new areas – developing a financial city of London. 



There was nothing Governments could realistically do to halt Britain’s tragically inevitable decline as an economic power. Imperial decline, the long term legacy of the wars and the emergence of more dynamic economic powers meant that Britain’s inevitable decline was irreversible. Butskellism and Thatcherism each had their merits but left behind a legacy of failure. Butskellism was short sighted, frail and unsustainable. Thatcherism sought to cling to the pretence of Britain as a global power and sacrificed too much in the name of wealth creation. When Britain learns to accept the reality of her position will she realise her full potential. As Keynes famously said, we are a great nation, but if we continue to act like a Great Power, we will cease to be a Great Nation. 
